Name /on ?, /\A .

Section J
Subsection left center right
Row number 12345678

Mathematics 1553
Quiz 3
Prof. Margalit
5 February 2016

(1 01 —2
4= (10 1) wao=( )

Write in parametric form the solutions to Az = b.
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Write in parametric form the solutions to Az = 0 (same A as above).
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True/False. There is a vector b in R? s0 that the set of solutions to Az = b is the yz—plane
in R® (same A as above). Explain your answer.

NO- The solutions Yo AVO is a line
and  So the &oluct\‘cms Yo any Axc b

must Be o line, 1ot o P\am,



